WALT read data tables using numerical and categorical data
Success criteria | can understand and identify everyday questions and issues
involving categorical and numerical variables

Reading tables

Table 1 shows the monthly and annual rainfall for Sydney (Observatory Hill) from 2002 to 201 1. Measurements
are to the nearest millimetre.

Table 1: Rainfall for Sydney (mm)

Year J F | M A M J J A S o N D Annual
2002 98 | 348 45 | 68 93 28 24 20 22 6 32 75 860
2003 14 7 59 7 132 7 192 7 349 76 58 43 6 | 103 | 109 60 1200
2004 51 | 129 | 101 33| 8| 39 44 | 153 60 | 234 67 76 995
2005 68 | 125 | 154 33 48 | 719 63 2 51 43 | 125 25 816
2006 . 121 - 51 - 40 - 10 - 40 - 177 140 86 192 17 45 74 994
2007 . 45 - 108 - 65 - 180 - 10 511 67 | 152 41 27 | 170 | 123 1499
2008 57 | 258 63 | 147 3 | 127 90 44 99 67 73 54 1083
2009 - 25 - 128 | 61 1 153 126 .130 - 53 6 | 16 | 180 | 13 i 67. 956
2010 36 | 239 51 30 168 | 147 | 115 27 42 85 | 130 83 1154
2011 54 18 | 192 | 206 | 136 94 | 282 52 72 37 | 148 78 1369

1 In this time period, which year had the:
a highest annual rainfall? b lowest annual rainfall?

2 How much rain fell in:
a January 20067 b May 2007? ¢ November 20117

3 Which month had the highest rainfall in:
a 20047 b 20107

& Which month had the lowest rainfall in:
a 20037 b 20077

5 Which year had the wettest:
a January? b June?
¢ December?

6 Which year had the driest:
a February? b  May?
¢ November?

7 Considering winter to be the months
June, July and August, which year
had the:

a wettest winter?
b driest winter?



https://www.youtube.com/watch?v=4iW2pkFwqyM

Table 2 summarises the rainfall statistics for Sydney for all records kept from 1859 to 2011.
Table 2: Rainfall statistics for Sydney (mm)

J | F M| A | M J J | A S O | N D | Annual
Mean 102 | 118 | 130 | 127 | 121 | 131 | 98 | 80 | 69 | 77 | 84 | 78 | 1215
Lowest 6 3 8 1 3 4 2 0 2 1 2 3 583
Median | 79 | 94 99| 95 | 91 100 | 75 | 55 | 53 | 56 | 67 | 60 | 1160
Highest | 387 | 631 | 521 | 622 | 585 | 643 | 336 | 483 | 356 | 285 | 517 | 402 | 2194

8 Consider the annual rainfall statistics for Sydney shown in Table 2. What is the annual:
a mean? b median?

9 a For the month of September, what is the:
i mean rainfall? il median rainfall?
b Suggest why the 2000 Olympic Games were held in Sydney in the month of September.

10 On average, which month of the year is the:
a wettest? b driest?

11 a What is the least amount of rain that has fallen in any month?
b In which month did this occur?

12 a What is the greatest amount of rain that has fallen in any month?
b In which month did this occur?

13 Which month has the smallest difference between the mean and the median rainfall?

Use tables 1 and 2 to answer questions 14 and 15.

14 For the period 2002-2011, in which years was the annual rainfall in Sydney greater than the long-term
mean rainfall?

15 For the period 2002-2011, what percentage of years had rainfall that was less than the long-term
median rainfall?

Table 3 shows the country of birth of settler arrivals in Table 3: Country of birth of settler arrivals in
Australia for the year July 2010 to June 2011. Australia (July 2010 to June 2011)
16 How many settlers arrived from: Country of birth Number of arrivals
a United Kingdom? b Vietnam? ¢ Iraq? New Zealand 25772
17 The total number of settler arrivals in Australia, China Lgt
from more than 200 countries, was approximately United Kingdom | 10 944
127 640 from July 2010 to June 2011. Determine India 10 566
the percentage of arrivals whol came from: . Philippiies 5048
a New Zealand b China ¢ India
d South Africa e Sri Lanka. South Africa 4752
Vietnam 3339

18 How many more arrivals came from:

a New Zealand than from Iraq? il e e

b the United Kingdom than from Sri Lanka? Iraq 2988
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How many people who were resident Australian in 2010 were born in:
a New Zealand? b the Philippines? ¢ South Africa? d Vietnam? e Greece?

‘What was the country of birth of the highest proportion of residents in:
a 20107 b 2006?

‘What was the country of birth of the lowest proportion of residents in:
a 20107 b 2006?

There was a decrease in the resident population from 2006 to 2010 of people born in which country?

In 2010 approximately 5 994 000 (=27%) of the Australian population were born outside Australia. What
percentage of those born outside Australia came from:
a China? b India? ¢ South Korea? d Sri Lanka? e Lebanon?

In 2010 the resident population of Australia was approximately 22 370 000. What percentage of all
Australian residents were born in:
a China? b India? ¢ South Korea? d Sri Lanka? e Lebanon?

From 2006 to 2010, what was the percentage increase in the resident population of people born in:
a China? b India? ¢ South Korea?  d Sri Lanka? e Lebanon?




